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Εισαγωγή	
  -­‐	
  Ορισμοί	
  

Είδαμε	
  στο	
  Μέρος	
  2ο	
  εξισώσεις	
  διαφορών	
  (γραμμικές	
  και	
  αυτόνομες):	
  

xt = 2xt−1 & xt = 4xt−1 + 4xt−2π.χ.	
  

Στο	
  Μέρος	
  4ο,	
  θα	
  ασχοληθούμε	
  με	
  συστήματα	
  εξισώσεων	
  διαφορών,	
  όπως:	
  

(i)
xt = axt−1 + byt−1
yt = cxt−1 + dyt−1

⎧
⎨
⎩

(ii)
xt = 4xt−1 + 2
yt = −2yt−1 − 3xt−1 + 3

⎧
⎨
⎩

(iii)
xt = 2xt−1 + 3yt−1 + 4zt−1
yt = 0,5xt−1
zt = 0,7yt−1

⎧
⎨
⎪

⎩⎪

Γραμμικά	
  &	
  ομογενή	
  
	
  
Γραμμικό	
  &	
  μη	
  ομογενές	
  

*	
  κατά	
  τα	
  λοιπά,	
  η	
  ονοματολογία	
  των	
  
διακριτών	
  συστημάτων	
  ακολουθεί	
  την	
  
κατηγοριοποίηση	
  των	
  διακριτών	
  
εξισώσεων	
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Το	
  σύστημα	
  (i)	
  μπορεί	
  να	
  γραφεί:	
  

xt
yt

⎛

⎝
⎜⎜

⎞

⎠
⎟⎟
= a b

c d
⎛
⎝⎜

⎞
⎠⎟
⋅

xt−1
yt−1

⎛

⎝
⎜⎜

⎞

⎠
⎟⎟

Το	
  (ii)  αντίστοιχα:	
  

xt
yt

⎛

⎝
⎜⎜

⎞

⎠
⎟⎟
= 4 0

−3 −2
⎛
⎝⎜

⎞
⎠⎟
⋅

xt−1
yt−1

⎛

⎝
⎜⎜

⎞

⎠
⎟⎟
+ 2

3
⎛
⎝⎜

⎞
⎠⎟

Το	
  (iii)  αντίστοιχα:	
  

xt
yt
zt

⎛

⎝

⎜
⎜
⎜

⎞

⎠

⎟
⎟
⎟
=

2 3 4
0,5 0 0
0 0,7 0

⎛

⎝

⎜
⎜⎜

⎞

⎠

⎟
⎟⎟
⋅

xt−1
yt−1
zt−1

⎛

⎝

⎜
⎜
⎜

⎞

⎠

⎟
⎟
⎟

⇔ ut = A ⋅ut−1

n × 1 
διάνυσμα	
  

n × n 
πίνακας	
   n × 1 

διάνυσμα	
  

+ b

(αν	
  μη	
  
ομογενές)	
  
διάνυσμα	
  

n × 1 

Το	
  σημείο	
  ισορροπίας	
  (f.p.)	
  προκύπτει,	
  αν	
  για	
  κάθε	
  χρονική	
  στιγμή t :	
  

xt = xt−1 = x*
yt = yt−1 = y*

⇒ x*
y*

⎛

⎝
⎜

⎞

⎠
⎟ =

a b
c d

⎛
⎝⎜

⎞
⎠⎟
⋅ x*

y*
⎛

⎝
⎜

⎞

⎠
⎟ ⇒ u*= A ⋅u *Άρα	
  το	
  (i)  

γίνεται:	
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⇔ u *−Au*= 0⇔ (I − A)u*= 0⇒ u*= 0
Ενώ	
  αν:	
  

ut = Au t−1+b

στο	
  σημείο	
  ισορροπίας:	
   u*= Au *+b⇔ (I − A)u*= b⇔ u*= (I − A)−1 ⋅b

Παράδειγμα	
  	
  1ο	
  	
  

xt = 2xt−1 + 3yt−1
yt = −2xt−1 + yt−1

⎧
⎨
⎩

(1)

Το	
  (1)	
  γράφεται:	
  

xt
yt

⎛

⎝
⎜⎜

⎞

⎠
⎟⎟
= 2 3

−2 1
⎛
⎝⎜

⎞
⎠⎟
⋅

xt−1
yt−1

⎛

⎝
⎜⎜

⎞

⎠
⎟⎟

Δηλαδή	
  στη	
  μορφή:	
   ut = A ⋅ut−1

Τότε,	
  αφού:	
   I − A = −1 −3
−2 0

⎛
⎝⎜

⎞
⎠⎟
, det(I − A) = −6 ≠ 0⇒ x*= y*= 0
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Παράδειγμα	
  	
  2ο	
  	
  

xt = 4xt−1 + 2
yt = −2yt−1 − 3xt−1 + 3

⎧
⎨
⎩

(2)

Το	
  (2)	
  γράφεται:	
  
xt
yt

⎛

⎝
⎜⎜

⎞

⎠
⎟⎟
= 4 0

−3 −2
⎛
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⎠⎟
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⎛

⎝
⎜⎜

⎞

⎠
⎟⎟
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3
⎛
⎝⎜

⎞
⎠⎟

ut = A ⋅ut−1 + bΔηλ.:	
  

u*= (I − A)−1 ⋅bΆρα:	
  

 

= −3 0
3 3
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⎞
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Επομένως:	
   x*= − 2
3
, y*= 5

3


